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Answer either in English or in Assamese

1. Answer the following as dirécted : 1x7=7

WWWWW

(a) *“The world is the totality of facts, not of

things.”” Who is associated with the
statement?
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(b)

(c)

20A/245

(2)

Among the following philosophers, who is
the author of the book, Principia Ethica?

fiare e f9se Principia Ethica
AR 2R fors @ 2
(i) Gilbert Ryle

faerIb <%

(if) G. E. Moore
f&. 2. 3

(ii) Wittgenstein

REQETEET
fiv) A.J. Ayer
9. 8. JHE

( Choose the correct alternative )

(= Rewcor q1f Sfepeay )
According to Russell, a fact is either true or

false. Is it true?

ICo=T TS, Bl ©R) 2] ST ST T | 3T
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( Continued )

(d)

(e)

()
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(3)

Who among the following was a member of
both Cambridge and Oxford philosopher?

fiare e Sote @re  wrfe
T F THEFTS S T S SIS ?

(i) G.E.Moore
& 3 [

(ii) Bertrand Russell

01 q1Toe

(iii) Ludwig Wittgenstein
GUERAETQECHED

( Choose the correct alternative )

( = s A Sfaear )

Who is the father of Logical positivism?

TH AP e (I ?

Ryle refutes the dualism of

Plato/Descartes/Spinoza.

( Choose the correct alternative )

A DT/ I /PR medm e
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(4)

(g) Analytic philosophers generally believed

that philosophical problems arise out of our
failure to use properly.

( Fill in the gap)
e e SRS fPapy <fifge
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—F IO IR e 9 26 |
(1M 312 oot 237 )
2. Answer briefly the following questions : 2x4=8
SETS fidll ehcaree 5 e oy -
(a)

(b)

(c)

(d)
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Write two differences between atomic and
molecular proposition,

TIRE W% W a5

RIECERE
“12f%57 fars |

What does Ryle mean by “Cartesian mode]’?
TR FRIE oo W B &R 7
What is atomic fact according to Russel]?

ICOeR TCS “Mqrerfees we 3 9

Wihat SSdoRNy o i e by ‘Family
Resemblance’?

‘wﬁ?ﬁaim‘ﬂ’m%%{m?

( Continued )

(5)

of the following questions :
3. Answer any three Ay

wors i epprize R e oo e fa -

(a) Explain briefly Wittgenstein’s view on
private language.

s SR A TRCRRRR TS f, TS
T 40 |

(b) Discuss briefly the kinds of facts recognized
by Russell in his logical atomism.

e O AL S SRR R

5 STl Pl |
(c) What is ‘official doctrine’ according to

Ryle? Discuss.

3o oo PR ©F ! f$ 2 Sceya 91 |

(d) State some examples put forward by
Wittgenstein to explain the concept of
language game.

SER  (F  QRMET TR AR SR
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(6)

(e) How did Moore distinguish  between
sensation and the object of sensation?

LI HFE EMe W g IE &M
12 R ffee 2
(f) Is philosophy linguistic analysis? Discuss.

e SR ReRT 2 2 wiEma 917 |

4. Answer any three of the following questions -

10x3=30
w1 fdl e R e Refem Sae vy -

(a) What do you mean by logical atomism?
Explain and examine Russell’s view.,

G%ﬁ:ﬂ¢mqmﬁqﬁwa1%'§ar?ﬁi(ﬁﬁﬁsqnsaa
ST A1 =1 o7 w4 |

(b)  Who are the principal cxponents of analytic
movement? Bring out the salient featureg of
the analytic trend in western philosophy.

Remem sieweme 20w @l com &2
APT) TS ResmeriR) 49 e s

(c) How does Moore attaék the Proposition

‘Esse est percipi’? Does he thereby refute
idealism?

LA S "ol ropiids’ o0 S
aﬁﬁi?émaamwa@ﬁ@@@ﬁﬂ@ﬁaﬁmmﬂ?
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(d)

(e)

(1)

20A—5000/245

(,77)

What is Cartesian dualism? Give a critical
account of Ryle’s refutation of Cartesian

dualism.
ORI (A I (@ICe ? IR IIORIR

taedm  Ae @ 99 foRgEe Em
SI9RCEHT |

‘““A proposition is a picture of reality.”
Explain after Wittgenstein.

“qb] o7 2 MeR foq 1”7 CRpesiERR qo
T 4 |

Explain and examine the language game
theory of Wittgenstein.

TR SR 47 TSIMCOl A
{3l 41 |
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